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QUESTION
Let A and B be matrices of order 3x3. PYQ-24-1
If|A|=ﬁ—2— and |B|=?19,thenwha.t AB - /A . B/
is the value of [2B(adj(34))| ?\/ M X / aay‘ (gﬁ) I / / / /
(@ 27 /k,q/ L /A/ N — orow
27 °?3/Bl?§/3304'(ﬂ)/ i A
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F29
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QUESTION

. Consider the following statements in
respect of two non-singular matrices
A and B of the same order n:

1. adj(4B) = (adjA)(adjB)

2. adj(AB) = adj(BA)

3. (AB)adj(AB) — |AB|I, is a null
matnx of order n

PYQ-24-1

dj(aB) = 0dj(s)- ady [p)
R
adjp - (od) = (A

(a) None /A A (_[_ALA %?2

(b) Only c:mﬂ statement ]n _ iden ﬁo {a 04 M'K

How many of the above statements are
correct ?

(c) Only two statements of aYdeY 7 .
- (d) All three statements {Qf/dtﬁ A Ld A8,
| > nul
(48) od(48) — [AB[1, = O e

poafv B
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Q) Consider the following statements:
1. Ifdet A=0, then det (adjA)=0
2. IfA is non- singular, then det(A~!) = (det A)~!

(@ 1only (b) 2only
(¢) Both1land?2 (d) Neither 1 nor 2

-]

O fedgal = 7= )7 =0
) /,q—'/: /A['/:. g
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Q) Consider the following statements:
1. Ifdet A=0, then det (adjA)=0
2. IfA is non- singular, then det(A~!) = (det A)~!

(@ 1only (b) 2only
(¢) Both1land?2 (d) Neither 1 nor 2

Ans: (c)
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Q) If/+m +n =0, then the system of equations

2x+y+z=]
X—2y+z=m
x+ty—-2z=n
has
(a) atrivial solution (b) no solution
(¢) aunique solution (d) infinitely many solutions
-2 1 /A/ _ _‘?(4_,) _/(..,?_,) H(/f'-?)
[ -2 |
L -2 = -613+3 =0
o
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(| 3(l*mrn)
")] [ 8 ((Hm‘n)
? 3 ((#m+n)

\

3%/

% [+msn = (6ivcn)
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3 [A]=0 & (adjA)8 =0 (nalf mafrf?ﬂ)

The divm sdrfun Of oqns hove [ fn/%/d many (oluhipns.
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Q) If/+m +n =0, then the system of equations

2x+y+z=]
X—2y+z=m
x+ty—-2z=n
has
(a) atrivial solution (b) no solution
(¢) a unique solution (d) 1nfinitely many solutions

Ans: (d)
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Q) Consider the following statements in respect of symmetric
matrices A and B

l. ABi1ssymmetric.
2. A%+ B?is symmetric.
Which of the above statement(s) 1s/are correct?

(a) 1only (b) 2 only
(c) Both1land2 (d) Neither 1 nor 2

0 @7’: 27AT = B4 f_ff_
() (A’+ 3‘)T= (A’j’f(ﬁzj"

S (87) = A8
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Q) Consider the following statements in respect of symmetric
matrices A and B

l. ABi1ssymmetric.
2. A%+ B?is symmetric.
Which of the above statement(s) 1s/are correct?

(a) 1only (b) 2 only
(c) Both1land2 (d) Neither 1 nor 2

Ans: (b)
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Q)If A=|:£3 0:|,wheremis cube root of unity, then what is
®
A100 equal to?
(@) 4 (b) -4
(¢) Nullmatrix (d) Identity matrix 4 oo _ wmo 0
2
A - [w o e o [ n* 0 9 3 100
D W b W - O
| _ [/
= A 0
ﬂ}. < wl 0 W9 wé 0 | = @
2 > 0 w =
0 ® o w 0 Wi
. W’ =/ Irel . 4t
(A A) - W
(,@37"” < wL —
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0 . : :
Q)If 4= |:£3 :|, where ® 1s cube root of unity, then what is
®
A100 equal to?
(@) A4 (b) -4
(c) Nullmatrix (d) Identity matrix

Ans: (a)
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Q) A matrix X has (a + b) rows and (a + 2) columns; and a matrix
Yhas (b + 1) rows and (@ + 3) columns. If both XY and YX
ex1st, then what are the values of a, b respectively?

@ 3,2 ®) 2,3
() 2,4 (d) 4,3

Xy = Mo o/ wlns of X = Mo o,/ o1

a+y = bt] 3 b= a+

Yx 2 m- Of eofurns ofy = - of 1o

a+3 = ath = Mz:a*(“f)
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Q) A matrix X has (a + b) rows and (a + 2) columns; and a matrix
Yhas (b+ 1) rows and (a + 3) columns. If both XY and YX

ex1st, then what are the values of a, b respectively?

@ 3,2 ®) 2,3
© 2.4 d) 4,3

Ans: (b)
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Q)If f(x)=

What 1s the maximum value of £ (x) ?

(b) 4

@ 2
© 6

2

flx) -

£ —

1+sin? x

sin2 X

sin2 X

Rl _Rz

1+ St

2

COS“ X 4sin2x

2

l+cos“x 4sin2x

2

COS“ X 1+4sin2x

@) 8

= Re
4‘/9;0114! 3 7[(‘1) - (/‘f‘f;))zl) (,) - (MQX(—I)
_0, + Y82z (OH)

fla) = 1+ Simx + cottx + Hilnox
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f1) = [+3im*x + sttt +Htnax

f(x) = 3+ 4sinse

& max« ralue  whey foax =/

a+4(r) = @

—
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Q)If f(x)=

1+sin
2

2

sin

Sin

2

X

X

X

0082 X

1+c032

COS2 X

X

4sm2x
4s1n2x
l+4sin2x

What 1s the maximum value of £ (x) ?

@ 2
© 6

Ans: (c)

(b) 4
@) 8
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Q) For a square matrix A, which of the following properties
hold?

LAY =4 Vv
1
det A

3. (M) = AA "', where A is a scalar

2. det (A7) =

Select the correct answer using the code given below.
(@) 1and 2 (b) 2and 3 (c)1and 3 (d)1,2and 3

y S
O (1] = 7=
®
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,7
il

FANG
EXAMS

Q) For a square matrix A, which of the following properties

hold?

LAY '=A

2. det (A1) = —
det A

3. (M) = AA "', where A is a scalar

Select the correct answer using the code given below.
(@) 1and 2 (b) 2and 3 (c)1and 3 (d)1,2and 3

Ans: (d)
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Q)The system of equations
2x+y—3z=5
3x—2y+2z=5and 5x—-3y—z=16
(a) is inconsistent
(b) is consistent, with a unique solution

(c) is consistent, with infinitely many solutions
(d) has its solution lying along X-axis in three-dimensional space

-3 .
N / unfzuc Solubion
3 -2 2

L3 -3 -Ij /v
/ﬂ/= .’{(4 +5) | (—-3—/9} _g(—-‘]-ﬂg) - J4+13-8= 46 70

)
N
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Q)The system of equations
2x+y—3z=5
3x—2y+2z=5and 5x—-3y—z=16
(a) is inconsistent
(b) is consistent, with a unique solution

(c) is consistent, with infinitely many solutions
(d) has its solution lying along X-axis in three-dimensional space

Ans: (b)
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a b
Q)IfA=|d e

g h
then what is

() A
(C) 72A

C

f

1

3d +5g 4da+7g 6g
3e +5h 4b+7h O6h
3f +5i 4c+7i

(b) 7A
(d) — 72A

equal to?
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a b
Q)IfA=|d e

g h
then what is

() A
(C) 72A

Ans: (d)

C

f

1

3d +5g 4da+7g 6g
3e +5h 4b+7h O6h
3f +5i 4c+7i

(b) 7A
(d) — 72A

equal to?
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Q)IfAz[l a],
0 1

where a € N, then what is
A — A —2A® equal to?
(a) — 2/ (b) —/
(c)2 1 (d) /

where I is the identity matrix.
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Q)IfAz[l a],
0 1

where a € N, then what is
A — A —2A® equal to?
(a) — 2/ (b) —/
(c)2 1 (d) /

where I is the identity matrix.

Ans: (a)
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